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Coordenadas dos pontos
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Equa(:lonamento para o centro O,

ks AO, \/ (yAl Yoa )
L A0, \/ (yAZ Yon )2
S | B3 _ ASO \/ (yA3 yOA)

AioA = AzoA
\/(XAl — Xoa )2 T (yAl ~ Yoa )2 = \/(XAZ — XoA )2 T (YAz ~ Yoa )2
2'XOA(XA2 o XA1)+ Xil _ Xiz + 2'yOA(yA2 o yA1)+ Yil o Yiz =0

A0, = ASOA
\/(XAZ — Xona )2 T (YAz — Yon )2 = \/(XAs — Xoa )2 + (YA:; — Yon )2

2'XOA(XA3 _ XA2)+ Xiz o Xis + 2'yOA(yA3 _ yA2)+ Yiz _ Yis =0




Solucao do sistema

-~ Oa

B3
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A1)+ Xil - Xiz T 2'yOA(yA2 — YA1)+ yil - Yiz =0
A2)+ Xiz - Xis + 2'yOA(yA3 - YA2)+ Yiz — Yis =0

2 Xon(Xpp — X
2 X (Xpg — X

Solucéo na forma matricial:

|:2'(XA2 o XAl) (yAZ )}{ }_'_{ XA2 + YA1 yiz } _ {O}
2'(XA3 o XAZ) (yAB 2) Yoa XAZ o XA3 + yA2 Yis 0

{XOA}:_|:2( A2_XA1) 2(yA2 )} 1{XA1_XA2+YA1_Yi2}
Yoa 2 ( XAZ) 2. (YA?, YAz) Xiz o Xis + Yiz o Yi:%?




Equacionamento para o centro Og
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A1

BO _\/ Xgg — X OB)2 (yBl_yOB)2

B,Og \/ YBz Yos )2

L  BO; = /(e +(Yas = Yog |
B,O; = B,0,
\/(Xsl — XoB )2 T (yBl ~ Yog )2 = \/(st — Xog )2 T (YBz — Yog )2
2'XOB (XBZ o XBl)+ Xél o Xéz + 2'yOB(yBZ _ )’31)Jr yél o ygz =0
BZOB = BBOB
\/(XBZ — XoB )2 T (YBz — Yos )2 = \/(XBB — Xog )2 T (YBs — Yos )2

2'XOB (XB3 o XBZ)Jr XEZaz o X|5233 + 2'yOB(yB3 _ YBz)‘l' ygz _ ygs 20
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Solucao do sistema

'B3

2. XOB (X XBl)+ Xél o szsz + 2'yOB(yBZ o yBl)+ yél o ygz =0
2'XOB (X XBZ)+ Xéz o X5233 + 2'yOB(yB3 o YB2)+ YE232 _ yfzss =0

Solucao na forma matricial:

[2.(sz — Xgy)

2-(X53 - st)

XBZ + yBl

2(Ygo - yBl)} { }+ {
(yss 2) Yos st o Xss + sz
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Exemplo 11.2

[E.rample 11.2. In designing pressure-sealing or thermal-sealing doors, it is sometimes
-.Pcccssary to reduce the clearance surrounding the door to less than that which could be
obtained using a conventional hinge. One possible solution is to design a four-bar linkage
that guides the door in and out with little rotation until it clears the surrounding structure,
after which it swings fully open to one side. Figure 11.23 shows three positions of such a
door undergoing this type of motion. Use both graphical and analytical techniques to find
a four-bar linkage with moving pivots at points A and B that guides the body through
these three positions. ;
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configuracao 2
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configuracao 1
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configuracao 2

Fosicao do slo intermadidrio Fosicao do elo de saida
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configuracoes 1 e 2

Oatarminanta da Matriz Jacobians
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Exerciclo

2-Projetar um mecanismo de quatro barras para mover o objeto pelas trés posicoes mostradas na figura.

Utilizar os pontos A e B como articulacoes.
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